IR -WEZ) 2019/6/1 FHIR N fE
ks Tz s 2lal R il vy AR b b B g
B4 Rl g e st ek EME Wik HR
Bl dbile e A B o] el s e bt 4 Rl e Lt e
Aft | #&EH 14z 2fr 3hr 447 507 6z R 8hr
wms | egin | 200m PR —R@®) 23.67 (-0.0)| )1l FRIAQ) 23.85 (-0.1)|#1L JE3@) 2386 (-0.1)|JIIZk #£ZN() 24.04 (0K [EE(3) 2435 (-0.)| B2 Q2 24.45 (-0.0)|)I1FF #KQ) 2467 (-0.7)|iR%% B2 2472 (+15)
FAE-NBHEH TRIER- K&+ TR|#E- #eh TR|EAB-1RIRH TR M- K&+ TR| KR - B+ =& K- B
6A1H | 400m TE BEQ) 53.98|%%& BEAN@Q) 5478(iE0 FFEFH(2) 55.46| & MHAEG) 56.52|#E%F WA(3) 56.64| LR Kilx(2) 56.94| A4 HRER}(3) 57.73| R BEQ) 57.86
INFB - INFBH TR|ER-ARF TR|=%&-EmH TR|EAE-/\BF BAEERF BAE\EFR iR -&ATR BAE KHF
6n1n | soom NI FFR@) 2:08.60| K% KHiH(2) 2:10.73| &L fE&EQ2) 2:13.73| =B IRHEER) 2:14.18| KIF 1&K(3) 2:15.54|18;% BAR(2) 2:17.14|1EF $AK(2) 2:17.19|IE8 #EMEQ2) 2:17.84
- EAF TR|$18B- B+ iR -"AWLF BB LA iR -&ATR - KSH INFBINFAE iR -&ATR
6818 | 1500m JEE KBOQ) 4:19.83| Bk #BH(2) 4:26.97|/MIl B3H(2) 42793/ NE E(©2) 4:28.06|i=# IRGE(3) 4:28.80(FHEF FIRL(3) 4:2082(#E H5(2) 4:30.09 R+ EFQ) 4:30.29
INFBRINFBRF TR|R@- I+ TR[/NF&-INF&HS TR| K@ I+ TR|#B - [R3H TR|FE&E-/\BH TR|FE& - HR+H INFBINFAE
6818 | 3000m BN AR 9:17.58|BIER RK(2) 9:19.33| IR AB¥A(2) 9:36.11|/NE EH(2) 9:37.18| E+JE #F(Q2) 9:37.56| %2 EE(2) 9:38.83| KFE #52(2) 9:39.68|%8 FEEE(2) 9:42.87
- Ferp TR|FE&B-1&IR$ TR| @I+ TR| K-l TR[/NF&-INFHS TR|FE& - HRH TR|/NF&-INFAH TR|/NF&-INFAF TR
6ALA | 1lomm KAR K@ 15.67 (+0.9)|FART  K#(3) 15.68 (+0.9)| #RE ZiK(3) 15.84 (+0.9)|7KiE  K#h(3) 16.69 (+0.9)| 4 #HE(3) 16.80 (+0.9)|/INAT EF(3) 16.97 (+0.9)| 118 H(3) 17.28 (+1.3)|iEER EAQ) 17.72 (+0.9)
K-z B TR|$18-&EH TR|R@-H2 5% TR| K@ - @A H TR|R@-ERH TR|FEf&E- A BETH TR|ER@-BEH BB LR
He- TR A 44.97 [RGB EIRPA 46.25| RfE- K5+ 46.47(%1 5 - BHEBA 46.68 (R - NBHETH 46.77 & FE - AL HA 46.79| =% - THH 47.04(FFE - B HA 4707
R HHG) KiZ BAEBEG) B3 12¥RQ2) A+t EERH3) B 8O R EBHQ % BKRQ e HEG)
6H1H | 4x100mR (3 !'.&iu(s) " IR #EHEQ) " Ml BRE2) - PIRE KHHE3) " BTEH KZ(3) ™" A Q) ™" % HEQ) ™" RE EQ ™"
il ) £REF HE(3) K B30) KM HEHES) R BFFE) I ING)) £ FIREG) RE BEQ
wHE EEQ NIk #B2973) N TEEB) A KEQ) AR BN EL BDE3) A HAG) BE 82
2 HmQ) 170|328 BR#EQ3) 1.70 EHH 1EAQ) 1.60(FE KZE®) 1.55|HERE B Q) 1.50( B BRRI(2) 145|778k 18@3) 1.40
entr | e BB Hend TR|= & KB TR KE-FEiLF FAE-RBEH K- B K- 12 - Feep
B B 1.70
RRE-Fid TR
6H1H | Ak R 1&F0) 6.44 (+0.2)[J\K {EE(3) w6.26 (+3.3)| 25 HHE(3) 5.95 (+1.7)| 5% 1EHQ2) 5.91 (0.0)| K% #B&H(3) 587 (+0.3)|4%F #HE(@®) w5.79 (+3.2)[FEAR FFHIEO) 5.68 (+1.5)| L& #5(3) 5.55 (~0.6)
- Ferp TR|&B-JE2 M TR|&B- L3 TR| K@ - BEH TR|$1i8- &M@+ TR|=%&-THH FAE-RBEH KR -=2WH
ontn | mg g [EEE3) 11.29(FR 303) 11.03[EH SES) 9.63[EF4T HRIN(3) 9.50| 77t ERARER(2) 9.24[HH KHEQ) 905|KAE A2 8.34[/h ik ME(3) 8.03
K- Fih TR|#&- #&h TR|=4-THF KE-HEiF i AmER =%&-THH - Fcp Hin-&HATR
6n1H | mems R RAQ) 1451 |FER Z ] (3) 1402 [/ $1(3) 984
RE-HE R RE-BES R K- K&H
6710 [ 110mH 18.49 (-1.2) 18.37 (-1.2) 25.92 (-1.2)
64 1A | fatf 5.81 7.67 7.46
610 | Empk 1.30 1.40 1.30
610 | 400m 57.96 1:05.38 1:01.46
AE HUEQD 12.26 (1.1 HEQ) 12.87 (0. |&E#E £h(1) 12,90 (-0.D|JII L FAEE(1) wi13.08 (+2.3)|HiE FEE(1) 13.17 (-0.1)|B8 #&AER(1) 13.29 (-0.1)| &1L F(1) w13.39 (+4.5)
vEmt lenta | 1oom R 5iRk$ TR|E@E-HiH TR|E@-H2z 5% TR| K- iBEh K- 12T FAE KH$ hnz - s
(=102 4Q0) 13.39 (+0.3)
RE-Fith
Al B2 11.98 (-2.7) |k EIE(2) 12.08 (-2 | KA R #A(©2) 1220 (00)| B E RE2) 12.29 (-2.7) AX BNQ) 12.33 (-2.D)| AR #HA(2) w12.39 (+4.2)|E4E EE(2) w12.42 (+3.7)
stes s | enin | 100m K- K&H TR|#&- #&h TR|E@-H2z &% TR| & - 1B FAE - RAE G - K& BRI ERF
ANiE IEIKQ2) 12.29 (-2.7) RET A2 12.42 (0.0)
i AEP - 12 $
stemt | ein | 100m HR —R@G) 11.63 (-2.5)| H#EFE Z=iK(3) 11.84 (-2.5)|)II5k &2 (3) 11.88 (-2.5)|&R+ Q) 11.92 (-0.8)| R EKX(@) 11.99 (-0.7D|/\K f£EH(3) 12,02 (-0.8)|F9fE K#(3) 12,04 (-2.5)|®k1l #E=H(3) 12.06 (-0.9)
MAE-ABETH TR|E@E-H2 5% TR|FE&B- &R H TR| - #&h =&-Fh BB 2N Hin-&HAT =B HERG

w (wind assist) : JBEZ#5
TR : J@{F Fosk, W15k A




I E - W) 2019/6/1 IR WNE E
ks Tz s 2lal R il vy AR b b B g
B4 Rl g e st ek EME Wik HR
Bl dbile e A B o] el s e bt 4 Rl e Lt e
Aft | #&EH 14z 2fr 3hr 447 507 6z R 8hr
st lenin | 200m A fEREQ) w26.28 (+2.9)[#AE FE(3) w27.11 (+2.9) [ TE(2) w27.82 (+2.9)|BHE BIEQ2) w27.90 (+29)[FiZ DAN2) w2791 (+25)|iFE Q) w27.93 (+2.5)| iR HEE(2) 2799 (+1.6)| &M 1LE®M) w28.24 (+2.9)
BB B2 NP TR|FE&B- KFnH TR[/NF&-INF&HH TR|FEAE-1&IR$ TR|$18-&MEH TR| KM@ BRE T TR|FE&E- A BETH TR| K@ -ERF
6n1n | soom mI E2E) 2:22.56| &)1l F2F(2) 2:2493|/ ik BEFI() 2:26.77|FK HDY(Q2) 2:2886| % ZIE£3(2) 22803518 =zzO) 2:2940| =R HULQ) 2:3132|F0E ##Q) 23145
RRE-HRILF TR| Rt - Rt TR|BB®TOC I TR|#iR-&MASF TR|FE&B-1&IRF TR| K@ - K5+ TR|E B < ABTH K- K&H
6AtA | 1500m BNl Ha2F©2) 45471 | H)I &2(3) 4:55.55|iF:8 ZIE(©2) 4:55.75|/\k BEFIQ) 456.24|FK HDY(Q2) 5:02.80|FEH EE(2) 5:09.33|F01MA £4MA(3) 5:09.82|F0E #hF(2) 5:10.07
R R TR|R@-Fi+ TR[/NF&-INF&HH TR|BEPTADIh TR|$18-&MEH TR|FE&E- A BETH TR|/INF&-INFAF TR| KM@ - K&+
6a1H | 100mm L MEE(3) 15.80 (-0.5)| £4F 23K(3) 16.17 (-0.5)|/NEFIR E(3) 16.22 (-0.5) ;0 BEFI(3) 16.35 (-0.5)| 2% FE((Q) 16.50 (-0.5)[ L0 BX(3) 16.61 (-1.0)|#A FH(3) 16.65 (-1.0)| IO &FH@3) 16.83 (-0.5)
- Ferp TR|#&B- 2N TR|R@- I+ TR| K@ R TR[/NF&-INFASP TR|E B < ABTH TR| &M@ B+ TR|FEfAE-1&IR$ TR
BB JEZHNHA 51.74 |- Fh A 51.78[/NF&-INFAHF 52.56 BB KFIHA 5259 &M@ -IEHA 52.95 #iR-&AH 53.73| K- K5+ 53.87
A BEEQ) #FE EMQ) ki XTu(2) BH EHEOQ INEFIR Q) JELL HEBE(2) RE WFEQ)
EH E2%X@O) " L MEEQ) " R M) - LEH B2 " JAH ERQ) " RE DANN2) ™" HHE FIEQ) -
ER ADH(Q) =28 10 FE 7EQ) RER E5H2) R B%Q2 R8I R¥EQ) i D)
6A1H | 4x100mr L FEZE) AN E(3) 2% FEQ) WHE Z03) 21 FLEQ2) 2 EFIG) BEH EEQ2)
RiE-R=ILHA 52.95
#E EMHE)
ED BFIB) R
NI EZE3)
hE BHA®)
FE RO 151[FK Fib@) 1.45|B08F Z(3) 1.30 #H BFQ 1.30|FEM T HNQ2) 1.20| 48 SEE(1) 1.20
entr | e INFBRINFAF TR| KM@ Bt TR|=%&- %K BAE KHF RRE-h2BH - K&H
=g DED(Q2) 1.30
i &EAT
6H1H | Ak FEH FIREQ w4.83 (+2.5)| KH FIF(3) 471 (+1.6)|REA ZFQ) 460 (+0.4) %% #5&@Q3) 450 (+1.3)[=H E£#Q) 4.46 (+0.5) |1k HRIE(2) w440 (+2.D)|EBF BED) 435 (+0.5)[FE1F BFL3) 432 (+1.8)
RE-FRE$ TR|#- #eh TR|E@E- I+ KE-hz8H FAE-ERF BB B2 R -K&H 1EiE-£3Hh
6a1n | g IR Hh3) 10.78[BE4R ZFi(3) 1049t EEE3) 10.27(/NER E#k(2) 9.48|/\H #DY(3) 8.98[HIL FEF(Q) 8.62|FiE V() 8.58| k15 BAE(®3) 8.09
BB 2 NF TR|&B-JE2 M TR|#&- #&h TR| KM@ IBH it BFEH B HRE Z&-Ff INFBINF ARG
6n1n | mems IR Hh3) 1980( L ZFEJ(3) 1698 & FFi(3) 1647
BB JE2 NP TR|E@-Hz 5 i &EATR
610 [ 100mH 17.60 (-1.4) 17.08 (=1.4) 17.69 (-1.4)
610 [ &bk 1.30 1.15 1.20
64 1A | fatf 11.09 7.03 6.43
610 | 200m w 30.62 (+3.5) w 29.63 (+3.5) w 29.53 (+3.5)
vieser |entn | 1oom R EEEF0) 13.66 (+1.7)| S E3(1) 13.89 (+1.7)| FE FEXR() 1419 (-1.3)|FEAR HH01) 14.23 (-1.4)|FEE FIF) 14.25 (+1.6)|FHEF H=A1) 1441 (+1.D|EF FiZR(1) 1452 (-1.3)|HER  #E(1) 14.54 (+1.7)
FAE-<BHEH TR|FEEAE-/<BHEH TR|ER-FE+ TR|ER-His K- K& e #iB LT
FE DA 13.55 (-2.6)| &1L ZE 2 H(Q2) 13.60 (-2.6)|1FE 1E(2) 13.62 (-1.3)| &1 BEQ) 13.85 (-2.6)|i%i% 3E(2) 13.90 (-2.6) L BIEQ2) 13.95 (-2.6)|1& 1L 1BR(2) 13.99 (+2.0)
steter lenin | 100m ia-&HG TR| K[ IBH TR[/NF&-INF&Hh BAE- RS K- ABJE T FAE KHF K- KEH
sk FIR(2) 13.90 (-2.6)
RfE-hz B
seser lomin | 100m FiL TEREG) 12.73 (+0.8)|¥AE E(3) 13.01 (+0.8)|fFE FTH(3) 13.22 (+0.8)| LA FHEZEEQ) wi13.35 (+3.2)| E4f E23£(3) w13.46 (+3.2)| NE #(3) w1352 (+3.2)| &R 1LEQ) 13,57 (+0.8)|E#E HFN(3) 13.65 (+0.8)
BB 2 NP TR|FE&B- KFeh TR[/NF&-INF&Hh TR|&B- 2N TR| B -2 M TR|FE&E-1&iRH R -=2WH apbe Nl

w (wind assist) : JBEZ#5
TR : J@{F Fosk, W15k A




